d 0.02135 / 1.2
d0 0.01956 D 0.03093
c B (d,/D)* 0.0
& Yo 2/
7, Pa v=ul/p 2/
P.P, Pa
P, Pa P=P-F Pa
T =T, K
Te =T K
T, K T =T,-T, T.=T,-T,
Ty :(T| +Te)/2 T, :(Tw+Tb)/2
0 K
2 Wi K) C,
a WI( 2 K) Q w
m kg/ U,
U, m/
Tf
Puater = 398.204 [kg/m3] 20
R,, =287.04 [J/(kgK)]
1 [mmHg] = 1.333224x 102 [Pa]
P, =769.24 [mmHg] 0.10256 [MPa] 14:.00 12.9
g Co It A Pr
| ¥ikgK) Fa-=s W m K
0| woe | LTMx10-% | 00241 0.720
20 Loy 1.&22 00257 1.714
40| 1004 | 1018 0.0272 0710
&0 104 2008 00287 0706
80 | 1010 | 2097 0.0302 0.701
100 | 1012 | 2.163 | 00316 | 0.699




Tw=100[ ] const

P AP

e ) + an T
=y e V.
—| \ |
LEE .. - |
\rvzox \_emet N\ mex O\ sap-
q= —/12—1- [W/m2] L :
m | 4T/dr (0
—> () :
A [Wim K)] 2
A A
‘ {EBR




S[m2] TwlK] TIK]

Q=a(T,-T)S=aS @
Q

QW]
Qo = 0‘0(‘90 _TO)S
Q =-AT-T,)S/dr
Q, = al(T - ‘91)8

Qo:Q1:Q2

Q
90 _91

Q= Yoy +dr/ 2+ Ve,

dQ = dU + pdv

H=U+pV
< dH=dU+V.-dp+p-dVv
< pdV=dH -dU -V -dp

G @
(4)= dQ=dH -Vdp
(6) —Vdp

-Vdp=0

(6)< dQ=dH =m-dh
m

dQ=m-dh=mC, -dT
o Q=mC, (T, -T,)

(8)
aS 0= rnc;p(-l-ou'( _Tin)

r‘nCp(Tout _Tin)
S ¢

< a =

QW]

a [W/mzK]

dh=C,dT



(@

[kg/s]
S[m2]

9)

(@)

CP[J/(kg K)] Tout,Tin[K]
Tw[K] 8 [K]

Cp Te,Ti
Tw 373.15[K]

(a) #fk S (b)) M (e) &iE

P=po+pgH" - pgH

p=(0'~p)gH
(a)



FI
(b) P’ P
p=(p-p')oH
(@) P p’
(©)
pup2
A
p= |:(,02 - p1)+ (pl + 0, )_:lgH
alA
p= (pz - pl)gH
JIS Z 8762
D B
25.4mm

S ITER G D
1 i 2s KA e
FhusRi
(e T N ]
> & DEao
Sea
daniimfam

L& 074 2

s




Ul,Pl U2,P2

}Uf+fi=luf+fi

2 P 2 2,

PUA = U A,
(10) (11) U,

2
1(p2 Ay J LR 1,:.P
’ - 2

n A b 2 .
2

P P

1 1—('02.A2.U2j U22:71_72

2 A o

- bl 2

(12)

p const
(12)<:> U2 _ 1 2 \/Zip
l_(Az/Al) yoN
Az
A, =C.A
e = 2 2p, P
1—(CC A/Ai)
Cc
1.0
e =
. i
i 1
¥ 4K

Cv

Ce

10

11

12

12’

13



€ JIS
£=1-0.2667 P/P,
(14)

BRI
R e
11 i HLIH" il 1=

s

iR

13

14

15

16

17



ReDzulD: 4m 18
v, D
p1 P1 T1
P_grr
P
= = R 19
'Dl RAirTi
0
0
0= Tl_ Te _ Te Tl 20
In( T/ T.) In{T,-T)(T,-T.)
Pr Nu Re
Pr Nu
Re
przﬂz"cp a A [mas] 21
a A p-C,
Nu:@ 22
A
RezUmd 23
)

T, T.P, R, P

400,300,200,100,50,20
L
T[]

e



Tl

Tl 1 P
[mmAQq] Pa P1 [mmAq]
No. T; Te P.-P; P =P,-P,
[ 1 [ ] [mmAd] [mmAd]

1 21.71 55.0 44 398

2 22.50 56.7 35 301

3 22.78 57.6 24 200

4 23.06 59.3 13 99

5 23.08 62.0 7 48

6 23.22 63.7 3 19

T, =(T +T.)/2 T =T, +T,)/2
0 (20)
P
P+ o, 9" = p, + p,0h
P lig P air
P—Po = Piigdh
Piiq = 998.204 [kg/m?]
No. T, Te T, T; 0 P.-P; P, P =P,-P,
[K [K] [K] [K] [K] [kPa] [kPa] [kPa]

1 29486 | 328.2 3115 342.3 60.1 0.43 102.13 3.90
2 295.65 | 329.9 312.8 343.0 58.8 0.34 102.21 2.95
3 295.93 | 330.8 313.3 343.2 58.1 0.23 102.32 1.96
4 296.21 | 3325 314.3 343.7 56.9 0.13 102.43 0.97
5 296.23 | 335.2 315.7 344.4 55.2 0.07 102.49 0.47
6 296.37 | 336.9 316.6 344.9 54.0 0.03 102.53 0.19

(15) (17),(19) Rep
€ P1

Prs Nur
Cp M A p.2

Re 2300



M P m
No. € c Re
[Pa s] ° | Ika/m®] | [ka/s]
1 0.990 1.830 x 107° | 0.6670 43189 1.207 0.0192
2 0.992 1.834 x 107°| 0.6685 37714 1.204 0.0168
3 0995 |[1.835 x 10°| 0.6710 30957 1.205 0.0138
4 1.0 1.836 x 107° | 0.6760 21968 1.205 0.0098
5 1.0 1.836 x 107° | 0.6815 15467 1.205 0.0069
6 1.0 1.837 x 10| 0.6900 9859 1.205 0.0044
o Pr Nus Re;
No. Cpr o« M1 A Pr, Nu, Re,
[J/(kg K] IW/(m7K)] [Pa s] [[w/(m K)]
1 1009 133 2.049 |x 10| 0.0294 0.704 96.8 55900
2 1010 123 2.052 [x 10| 0.0294 0.704 89.0 48800
3 1010 104 2.053 [x 10| 0.0295 0.703 75.2 40100
4 1010 78.3 2.055 [x 10| 0.0295 0.703 56.7 28400
5 1010 61.1 2.058 [x 10| 0.0295 0.703 44.1 20000
6 1010 41.4 2,060 |x 10 | 0.0296 0.703 29.9 12700
a
10 11
a )
(9)<:> o= me(Tout _Tin)
S ¢
aocm a
S = const Cp; = const
T.-T. .S (16.53+ 6225j 24
& Cp;,\ m
11 (24) (8) T.-T, <1/m
o oc Moc ]/Tf
o oc—T, 11 10
10 11
a M, = 0.9983
Tt « Iy, =0.989

10
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80

a [W/(m 2K)]

60

40

20

/ a =6225m + 16.53

0.010 0.015 0.020

[kg/s]

S\ O =-37.55T;+12090

/b

344 344 345
Ti K]

11

345



Nu Re Pr

Nu Re Pr
Nu=cRe" Pr" 25
(24)
(25)
log(Nu) = log(cRe™ Pr" )= m-log(Re)+ n-log(Pr) + log(c) 26
Pr ~ const
Pr Colburn 0.7 Pr 120
n=: 27
3
Re 12
m = 0.7961 28
(27),(28) (25)
(25)< Nu, =cRe,*™ pro¥= 29
13
22
2
18
= log(Nus) = 0.7961 log(Res) - 1.788
& 16 1
S
14 |
12 |
1
4 41 42 43 44 45 46 47 438

log(Rev)

12 log(Nuf)-log(Ref)

12



120

Nug = 0.0182 (Re®T!pPr333%) + 0.3422

100

60 &

o7

Nu+¢

20

0 1000 2000 3000 4000
Ref0.7961 P rf0.3333

13 Nus; Res Pry

13
c=0.0182
0.342

Nu, = 0.0182- Re, *"™ Pro%*

Nu = f(Re,Pr)

Dittus-Boelter
Nu,, = 0.023Re,*® Pr®*

10* <Re, <1.2x10° 0.7<Pr<120

Nu,, = 0.0395Re,** Pr¥®
T, T,

w

13

5000

6000

30

31

32



Colburn
Nu_ = 0.023Re,"® Pr'?

33
10* <Re, <10° 0.5<Pr<100 T,
1 V3
NumZECf RePI’ Cf
Schlichting 1
C, =0.0592Re™*
Nu,_ = 0.0296 Re’® Pr¥?
(33)
Prandtl-Taylor
0.75
u = 0.0395 ReOd : Pr 34
1+1.99Re, ***(Pr-1)
05<Pr T,
Pr
a _Co 2
r, u, 1+(u/u, )Pr-1)
2 A :
7,=Cip-u, /12 C, =2 A Darcy-Weisbach
C, Blasius
A =0.3164Re*®
1/7
Y _199Re, ¥
uDO
(34)
Kalman
34
Nu_ = 0.0323Re, OlI;r/w 35
1+0.994BRe, ***(Pr-1)
Pr T,
Kalman
Pr
(35) B P 14 15

14



14 05<Pr<5 B’ 1.58Re 019
(35)
3/4
1+157Re, " (Pr-1)
Petukhov
(C;/12)-Re, Pr
Nu, = 12 2/3 36
K.i(Ci)+(C; 12)7 K, (Pr)-(Pro™-1)
C, =7,/(pU2/2)=(3.64l09,, Re,~3.28)7
K,(C,)=1+13.6C, ,K,(Pr)=11.7+1.8Pr '*
10* < Re, < 5x10° 0.5< Pr < 2000 T,
Notter-Sleicher
Nu,, =5+ 0.016RRef Pr° 37
a=0.88-0.24/(4+Pr), b=0.33+0.5exp(—0.6Pr)
10* < Re, <10° 0.1<Pr<10* T,
(32) (37) (31)
Pr = const 38
Pr
T, T, Pr
No. Pl’b Prf
1 0.710 0.704
2 0.710 0.704
3 0.710 0.703
4 0.710 0.703
5 0.709 0.703
6 0.709 0.703
0.710 0.703

15

TR
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16 31 (32) (37)
(32) (@37
Colburn
Kalman 10
(32) (37)
100
T, 40 T, T, 60
10 20
10 20
100
3.3 p.3,4

aS 0>mC,(T,-T)
rnCp(Te _T|)
S ¢

17

Nu
Prandtl-Taylor

60

10 20

)

Nu oc o 16

23

(6).(7)

(8)



16

17

17

_ P
aldAx— pJ-t
me
< A=
Yo,

100

100

(32) (37)
¢
Ea —
IREI L
:TW i J l !f‘_ fen
4| T =
| AT
| i
L N (A
0 A A
17
39
dQ
tCl tc2
. 40




(39)  (40)

41

(41)

AT .

|

18

Q
Q = a2z )T, -T,)
Q
Q =A(2zr z)‘;—I

42

43

QO:Q1:Q2:Q a4

19



(43),(44)

dT
=A2xr l)—
Q (7” )dr
o ar=—2L Ly
2l A v
o [ar=-2 J'Zid
1 2rl A% r
o ToT-- Qi
2lA 1,
T,=- nl2T,
241y
T (42)
(2)e T,=T,- Q
2rrla
T2
Q1 1) o
2rl\A 1,1
Q (45) T
T, ~100 T,
T,
No. Q [W] T,[ ]
1 644.9 99.82
2 580.3 99.84
3 485.3 99.86
4 358.7 99.90
5 271.2 99.92
6 179.9 99.95
Nu=f(Re,Pr)

53 p.l3 18

20

45



Nu=f(Re,Pr)

n
.
f(v,,V,, 5V, )=0
(A 'ARPERVA
,,I1,, 11
¢(H1’H2""’Hm)= 0
M

M
o [WIm2K)]=[J/(s m2K)]

p [kg/m3] p [kg/(s m)]

Mn

o= f(pnl,,unz,cm,ﬁn“,LHS,UHG)

[m2/(s2K)] A [kg m/(s3K)] L[m] U[m/s]

MLoT 20 = ML ™ - [MLT 2 [T 20 B MLT B L) LT

M I +II,+1I1, =1

L -3, -1, + 21, +I1, + I, + 11, =0
T -I1,-201,-3I1,-I1 =-3

0 -11,-11,=-1

o= pH6 '/,IH3_H6 'CH3 '2/1—1_[3 . LHs_l 'U ITg

:i(u-cj‘“ puLY"

L A Y7,
Nu:a_.L Pr:'u_c Re:i

A A 7

A= Nu = Pr': Re"s

Nu
Nu=k-Re"Pr" m,n

I, =1I1g

I, =TI, -1,
I, =1-11,
I, =11,-1



11

p.11

10

n
Nu=k-Re™Pr"

2002
1986

22

p.209,210
p.122~124,136
1988  p.355~357
1980 p.176 202

Nu

p.11



